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QUESTION 1

Litigations concerning former employees involving trade secrets have some problems. Which of the following is
considered to be such a problem?

A. The cost of litigations is too high and the owner of the trade secret may lose.

B. Litigation is a waste of time.

C. The owner of the trade secret may have to expose the information that is being protected.
D. Both A and C.

E. All of the above.

Correct Answer: D

QUESTION 2

Which of the following precautionary actions to provide executive protection is not advisable?
A. Maintain a low profile.

B. Do not use commercial airlines.

C. Do not publicly announce travel.

D. Consider use of armor-plated autos.

E. None of the above.

Correct Answer: B

QUESTION 3

According to Hallcrest Il, American businesses\\' losses to crime in 1990 were estimated at:
A. $114 billion

B. $53 billion

C. $241 billion

D. $16 billion

Correct Answer: A

QUESTION 4
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Federal trial courts are called:
A. District courts

B. Courts of Appeal

C. Chancery courts

D. Superior courts

E. County courts

Correct Answer: A

QUESTION 5
Which of the following is not true with regard to arrest by a private citizen?
A. Private Citizens may arrest for a misdemeanor only if they witnessed it.

B. Private Citizens may arrest if a felony has been committed and they have reasonable cause to believe a suspect has
committed it.

C. Private Citizens may make an arrest if they have reasonable cause to believe a felony has been committed.
D. All of the above
E. None of the above

Correct Answer: C

QUESTION 6

Many offenses that do not require proof of intent are called:
A. Strict liability crimes

B. Common-law crimes

C. True crimes

D. Mala in se crimes

E. None of the above

Correct Answer: A

QUESTION 7

A National Agency Check consists of:
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A. CIA records

B. Civil Service records

C. Coast Guard records

D. Both A and B

E. All of the above

Correct Answer: E

QUESTION 8

Most theft is committed by:
A. Professionals

B. Organized crime

C. Amateurs

D. Maladjusted criminals
E. Semiprofessionals

Correct Answer: C

QUESTION 9
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Employees\\' attitudes are directly affected by:

A. The supervisor\\'s attitude and actions

B. Lack of recognition

C. Personal problems that originate within and outside the company

D. Fellow employees
E. None of the above

Correct Answer: C

QUESTION 10

Which of the following is generally used by saboteurs to disrupt industrial operations?

A. Chemical means

B. Electronic methods
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C. Fire
D. All of the above
E. None of the above

Correct Answer: D

QUESTION 11

Perhaps one of the most difficult tasks in planning for disaster and emergencies is the actual formulation of a basic
disaster plan. Which of the following is an incorrect procedure in developing such a plan?

A. The basic plan should provide for coordination of government and company actions before and during a disaster.
B. A glossary of terms used should be included.

C. There should be a listing of types of emergencies limited to those experienced by the company in the past.

D. The plan should utilize appendices as needed, such as maps, call-up lists, and mutual aid agreements.

E. The plan should specifically provide for coordination of government and company action before and during a
disaster.

Correct Answer: C

QUESTION 12

Defense Readiness Condition (DEFCON) ratings - a numerical indication of world tension - are established by the:
A. FBI

B. NSA

C.CIA

D. NORAD

E. State

Correct Answer: D

QUESTION 13

The public statute passed to protect personal information in possession of federal agencies is:
A. The Espionage Statute

B. The Unauthorized Disclosure Act

C. The Omnibus Crime Control Act
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D. The Privacy Act of 1974
E. None of the above

Correct Answer: D

QUESTION 14

Sabotage can effectively be combated by:

A. Reducing target accessibility and vulnerability
B. An effective training program

C. A close liaison with FBI and other agencies
D. All of the above

E. None of the above

Correct Answer: A

QUESTION 15

Excluding the top guard, standard barbed-wire fencing that is intended to prevent human trespassing should not be less
than:

A. 6 feet high
B. 7 feet high
C. 8 feet high
D. 9 feet high
E. 10 feet high

Correct Answer: B
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